(© Copyright : Gatic Pty Ltd - 2014

1 2 3 4 5 6 7 8 9 10 11 12 13 14 [ 15 16
NOTE:
8 ONLY OF M10x50 BOLTS
REQUIRED FOR ASSEMBLY C/W
WASHERS AND NUTS
- B
(I i [ I\
- ol 1C NG NI Dl IB -
'—o : ~ 709008 _LCoWD = :O ' «N
™\ /) ]
) | A= o
-m_r/‘q-_-/h ) AN — P—
| D | [
SIS =& ; = =) |
> NI 4 — | #
_ N _ Y _
L/ U/
A ) PPN | A
ol M s o
——lc 2 =
o o
CHC Ve Ve N
\l | | | IJ
~—B SECTION B-B
840
Item Document | Revision Title Material Qty Mass
No. No.
1 1664 D 610x457 C/O Concrete Infill Ductile Iron 500-7 1 45.1 kg
Cover Class D
2 4004 B 610mm Draw Cut Bar Class D Ductile Iron 500-7 1 11.3 kg
690 3 4002 C | 457mm RH Side Bar Class D Ductile Tron 500-7 1 7.7 kg
4 4001 C 457mm LH Side Bar Class D Ductile Iron 500-7 1 7.7 kg
N ’J ‘ ’ U ” / ] N 5 4007 B 610mm Under Cut Bar Class D Ductile Iron 500-7 1 9.4 kg
— - - - - v ! e L‘l_ I N
== /‘ 6 2856 A M10 Washer Nylon, general purpose 2 0.0 kg
7 2855 A M10 Washer Stainless Steel, 304 2 0.0 kg
610 C/O
8 2857 A M10x65 Socket Head Cap Bolt Stainless Steel, 304 2 0.1 kg
SECTION A-A 9 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
10 1681 A Plastic Keyhole Plug UV Stabilized Nylon 4 0.0 kg
UNLESS OTHERWISE STATED | nga MACHINING TOLERANCE: NOM = Nominal; O/A = Overall; TYP = Typical; C/O = Clear Opening BY DATE |“Cm301ce4p|™ 610 x 457 C/O CONCRETE INFILL COVER &
% ALL MEASURES IN MILIMETERS. X.  £0.25mm E pestoned: | EM. | 10-10-14 [soae FRAME ASSEMBLY CLASS D
a A 10-10-14 | Initial Release F.M S.S EZES)';;)NI;(I::S?IZ3 mm QNGULAﬁJg"ACHINING TOLERANCE: EI/?SLkY'/I'\’:iEIEIDO-II;OGI:?I}(GI?éALING GREASE TO BE SATIC TV oTD i THIRD ANGLE | crece: S5 10-10-14 " ore- e .
© No | DATE DESCRIPTION BY |CKD. | DRAFT TAPERS: 20 XX 01° APPLIED ON ALL MACHINED SURFACES. o o e s o e bose vewoniieemmau | PROJECTION [mmoveo| e, | 10-10-12 |*" 10f 1 5041 A
1 2 3 4 5 6 7 8 9 | 10 | 11 | 12 | 13 | 14 | 15 16




